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INDIAN PENAL CODE (FOR POLICE OFFICERS)

Time : 3 hours : ‘Maximum Marks : 100
PART I — (WITHOUT BOOKS)

1. Explain the following (Any 5 - mention Sections of Law) (6% 2=10)

(a) Sediti‘on.
(b) Unlawful assembly.
(c) Bribery.
(d) Dowry death.
(e) Stalking.
H Housé-breaking.
2. Distinguish between the fgllowing (Mention sections of Law) - (2% 5=10)
(é) Hurt and Grievous hurt

(b) Kidnapping and Abduction -
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3. Under what penal provisions would you prosecute the offenders in the
following cases:

(a)

(b)

(c)
(d)

(e)

‘A’ mtentmnally causes Z’s death, partly by illegally omitting to give v/ food, and
partly by beating Z. State the offence committed by ‘A’.

‘A’ a soldier fires on a mob by the order of his superior officer in conformitf with
the commands of Law. What offence, is ‘A’ guilty of? '

‘A’ instigates ‘B’ to murder ‘C’. ‘B’ refuses to do so. Has ‘A’ committed any offence?

‘A’ makes a false entry in his shop-book for the purpose of using it as »
~ corroborative evidence in a court of Justice. Is ‘A’ guilty of any offence?

‘A’ being Z’s servant and entrusted by Z with the care of Z's plate, dishonestly
runs away with the plate, without Z’s consent. Has ‘A’ committed any offence?

PART II — (WITH BOOKS)

4. Write short notes on any FIVE (Mention Sections of Law) : (5 x 3 =15) _'T
(a) Assault
(b) Voyeurism
(¢) Defamation
(-d) Criminal Trespass
(e) Gang Rape
63)] Véluable Security

. 5. What is criminal breach of Trust? Explain it in detail.

6. Distinguish between (Mention Sections of Law) : (8x5=15)

(a)
(b)
(c)

Robbery and Dacoity.
Wrongful restraint and wrongful confinement.

Attempt to murder and Attempt to commit suicide.
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Answer the following giving Sections of Law : : (35)

(a) ‘A’ for the purpose of inducing ‘B’ to desist from prosecuting a civil suit, threatens
to burn B’s house. Is ‘A’ guilty of any:offence?

(b) ‘A’ makes an attempt to pick the pocket of Z by thrusting his hand into Z’s pocket.
A fails in the attempt in consequence of Z’s having nothing in his pocket. Is ‘A’
guilty of any offence? :

(c) ‘A’ signs his own name to a bill of exchange intending that it may be believed that
the bill was drawn by another person of the same name. Has ‘A’ committed any
offence?

(d) ‘Z is standing in his doorway. ‘A’ forces a passage by knocking ‘Z’ down and
commits house trespass by entering the house. State the nature of offence.

() ‘A’ voluntarily throws into a river a ring belonging to Z’ with the intention of
thereby causing wrongful loss to ‘Z’. What offence has ‘A’ committed?

() ‘A by pledging as diamonds articles which he knows are not diamonds,
mtentlonally deceives Z’ and thereby dishonestly 1nduces ‘Z’ to lend money. What
offence is ‘a’ guilty of?

(g) ‘A’ a carrier, is entrusted by ‘Z’ with property to be carried by land or by water. ‘A’
dishonestly misappropriates the property. What offence has ‘A’ committed?

(h) ‘A’ finds a valuable ring not knowing to whom it belongs. ‘A’ sells it immediately
without attempting to discover the owner. Has ‘A’ committed any offence? -

(i) ‘A’ in India instigates B, a foreigner in Goa, to commit a murder in Goa. What ‘
offence is ‘A’ guilty' of?

(G) ‘A’ attacks Z' under such circumstances of grave provocatlon that his killing of Z

would be only. culpable homicide not amounting to murder, ‘B’ having illwill
towards ‘Z° and intending to kill him and not having been subject to the
provocation assists ‘A’ in killing ‘Z". What offence is ‘A’ guilty of?
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